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ة          جا   ن  وم   ی  ھا وی ا ع      ا          
   الفيزيائيةلثاني  في العلومالثلاثي ااختبار 

   ساعات� :المدة
 


" Gerboise bleu "

 
α

  
-1  
-2  
-3   P = 0.056 W 

-4  
-5  
-6  

m (238
94Pu) =3,952073 .10-25 kg . m(234

92U)=3,885528 .10-25 kg . m ( 42He)=6,644691 .10-27 kg 
1 u = 1,66 .10-27 kg = 931.5 Mev / c2  . λ =2,5 .10-10 .s-1 . c= 3.108 m.s-1 .  1Mev=1,6 .10-13j 

 
HA/A-  

pKaHA/A-pH 
S1 A-  C1 = 0.1 mol.L-1  V1 
S2 HA  C2 = 0.1 mol.L-1  V2 

 
87 6 5 4 3 2 1  
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5.8 5.4 5.1 4.9 4.7 4.5 4.2 3.8 pH 
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pKa (25oC) HA/A- 
1.3 CHCl2COOH/ CHCl2COO- 
2.9 CH2ClCOOH/ CH2ClCOO- 
3.7 HCOOH/HCOO- 
4.8 C2H5COOH/C2H5COO- 
7.3 HClO/ClO- 

2010/2009 
 

238 
238 

238 

50 

                حا           ن

http://www.pdffactory.com


 
8 7 6 5 4 3 2 1  

5.8 5.4 5.1 4.9 4.7 4.5 4.2 3.8 pH 
V1/V2 

log (V1/V2) 

-2  pH= f(logV1/V2)   1cm →0.25  .  1cm → 0.5  
-3  b a   pH = a . log(V1/V2)+b 
-4HA 

 [A-] f / [HA]f =V1/V2 
-5HAKaHA/A- 
-6pHpKa [A-] f  [HA]f 
-7  6 3 HA/A-   pKa 
-8HA/A-)  :  

 
E R  L
r = K  

   t =  o UAM  UBM  
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
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 
 
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  
 E uAM  uBM 

 
  E 

 Io 
 R 
 τ 
 L 
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 
 RC 

EC 
K  
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V 
 
 
σ 
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f[        ] G  ,K,      λλ 
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 
M(O)=16g/mol  . M(H)= 1g/mol   .  M(C)=12g/mol 
λ       = 35 mS .m2.mol-1 , λ           =4,1mS.m2mol-1 

Ke= 10-14

اجين: بالتوفيق   أستاذ المادة   

R= 10 kΩ 

α.   duc(t) + uc(t ) = 0  
dt 

uc

uR

E C

R
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100mL 
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